PA—=1RNV

O E : SEAMBIN S v FARUIT UL IH
MADE OF GALVANIZED STEEL AND STAINLESS

F=I7L—rEESF v b

D
I
S ‘ 1 ry-Iv7L—+%
- ! [ / E§hgkiR2tx 40
— =@} ——
‘ ‘ I I
o ‘ ‘ T e I
T @ @2 by R
‘ ‘ 7oA—RIV R 4
F—ITL—F 2
L =] = L_| ‘ FUMN~R—2EERE0) |16
@ 2T) 0Dy v — 4
TL—RDvivp— 4
fm & FRILED¢ L v) =1 g & AIED¢ L Lv) =
311 M12 X 47 600 ESARFREA A Y F1T 311-S| M12x4=K 600 27 L Z(SUS 304)
312 M16 X 47 600 4 4 312-S| M16X%x4=K 600 ” 4
313 M20 X 47 600 ” ” 313-S| M20x4%K 600 7 7
314 M24 X 47 600 4 4 314-S| M24Xx4K 600 4 4
315 M12 X 47 800 4 4 315-S| M12x4=K 800 4 ”
316 M16 X 47 800 4 4 316-S| M16X4=K 800 ” 4
317 M20 X 47 800 7 ” 317-S| M20x4%K 800 7 7
318 M24 X A7 800 4 4 318-S| M24x4K 800 ” 4

100 T H Kb

27 L X8
'anlas

m & RIVED¢| L 7 =

321 M12 |200|#&. ARERAYFE

322 | M16 |200] # ’

323 | M20 |200| « p

324 | M24 |200] « ’

325 | M12 |200|27 L Z(SUS 304)

326 | M16 |200| ~ /

327 | M20 [200] ~ "

328 | M24 |200] ~ "

325-L] M12 250|227~ LZ(SUS 304) ® &|d | D] LI 7 H
326-L| M16 |250] ~ v | @L=2501F=EIC 330-12|M12] 13 | 95|160| 25~ L Z(SUS 304)
327-L] M20 [250] « % FILIF—/8—R—IL 330-16|M16| 17 |120|160| ~ %
328-L| M24 |250] # " EER | ERLET, 330-20/M20] 20 [190]250]  ~ "

BAT :mm 49



